

A New Look at Fluid Dynamics

Newton dynamics of mass^a points may be regarded a mapping of a point in 3^d space to another point. String theory in its original form is a mapping of a line segment to another line segment ^{in 3^d space}.

Similarly, fluid motion may be regarded as a continuous mapping of n-D onto itself.

Incompressibility may be imposed as a subsidiary condition for the Jacobian of ~~Jacobian~~ ~~of~~ for the ~~the~~ change of volume elements.

~~$L = \int \frac{1}{2} m$ Original coordinates of points (x, y, z)
Present coordinates (x, y, z)~~

~~$L = \int \frac{1}{2} m (x^2 + y^2 + z^2) dx$~~

In this formulation, the ~~multiplication~~ factor $\lambda(x, y, z)$ in the ~~con~~ multiplying the condition turns out to be the pressure.

$$L = \int \frac{m}{2} (\dot{x}^2 + \dot{y}^2 + \dot{z}^2) - V(x, y, z) + \lambda ([x, y, z] - 1) dx dy dz$$

$$[x, y, z] \equiv \frac{\partial(x, y, z)}{\partial(x, y, z)} \quad (1)$$

Eqs of motion ~~$\frac{\partial L}{\partial x_i}$~~

$$m \ddot{x} + \partial_x V + \partial [x, y, z]$$

$$= [x, y, z]_{x y z} \times [\lambda, y, z]_{x y z}$$

$$= [\lambda, y, z]_{x y z} = \partial_x \lambda \quad (2)$$

etc.

Incompressibility implies

First consider 2D, $[x, y, z] \rightarrow [x, y]$,
Incompressibility implies

"
 $\text{div } v = 0$ for a

Since this is a 1st class constraint, To satisfy
this, one introduces the stream function ϕ ,
one assumes

$$\dot{x} = \partial_y \phi, \quad \dot{y} = -\partial_x \phi \quad (2)$$

ϕ is a stream function.

$$\text{or } \dot{x} = [x, \phi] \quad \dot{y} = [y, \phi] \quad (3)$$

For a steady stream, $\partial_t \phi = 0$

(3)
This has the same form as the Hamiltonian

equation, with x, y being the canonical pair q, p ,
being equivalent to

$[a, b]$ being the Poisson bracket, and
 ϕ playing the role of the Hamiltonian.

In this way one can think of space quantization

In 3-D, one introduces two scalars ϕ, χ and write

$$\dot{x} = \frac{\partial(x, \phi, \chi)}{\partial(\xi, \eta, \zeta)} \equiv [x, \phi, \chi]$$

In general

$$\dot{Q} = [\phi, \chi, \dots] \quad (4)$$

(ϕ, χ, \dots is called Clebsch potential)
equivalent to the

Similarly for n -D, we introduce $n-1$ Hamiltonians

$$\dot{Q} = [x, \phi, \chi, \dots] \quad (5)$$

This is the so-called ^{Nambu's} ~~Nambu~~ many-Hamiltonian formalism.

The ^{physical} meaning of ϕ, χ, \dots is the following

$\phi = \text{const}$ in n -D is a $(n-1)$ -D manifold.

The intersection of all ϕ, χ, \dots is a 1 -D ~~line~~ point.

$$\nabla \vec{C} \cdot \nabla \times C = (\nabla \vec{C} \times \nabla) C$$

3D compatibility

$$\vec{v} = \nabla \times \vec{C}$$

$$\dot{O} = (\nabla O) \cdot (\nabla \times C)$$

$$\dot{v} = \nabla(\nabla \times C) \cdot (\nabla \times C)$$

$$\nabla \times \dot{v} = 0$$

$$\nabla \times \nabla \cdot (\nabla \times C) \cdot (\nabla \times C) = 0$$

$$- \nabla \cdot (\nabla \times C) \times \nabla (\nabla \times C) + \nabla (\nabla \times (\nabla \times C)) \cdot (\nabla \times C)$$

$$- (\nabla \times C) \cdot \nabla \times \nabla \cdot (\nabla \times C) \quad (\nabla \times C) \cdot \nabla (\nabla \times (\nabla \times C))$$

$$- ((\nabla \times C) \times \nabla) \cdot (\nabla \cdot (\nabla \times C))$$

$$- (\nabla \times C) \cdot \nabla$$

$$(\nabla \times C)_i \nabla_i \nabla_{jk} (\nabla \times C)_i$$

$$\dot{v}_i \nabla_{jk} (\nabla \times C)_i \cdot (\nabla \times C)_k$$

$$(\nabla \times \dot{v})_{je} \nabla_{je} \nabla_k (\nabla \times C)_i \cdot (\nabla \times C)_k = (\nabla \times C)_{ije}$$

$$= \nabla_{jl} \nabla_k (\nabla \times C)_i \cdot (\nabla \times C)_k + \nabla_{je} (\nabla \times C)_i \cdot \nabla_{jk} (\nabla \times C)_k$$

$$+ (\nabla_k (\nabla \times C)_i) \nabla_{je} (\nabla \times C)_k$$

$$\nabla_{je} (\nabla \times C)_i \nabla_{jk} (\nabla \times C)_k = 0$$

$$(\nabla \times C) \cdot \nabla (\nabla \times C) = \frac{(\nabla \times C) \cdot \nabla \Delta C}{\Delta C \cdot \nabla \Delta C} = [\nabla \times (\nabla \times C)] \cdot \nabla \Delta C$$

$$(\nabla \times C) \cdot \nabla \Delta C = \nabla \cdot (C \times \Delta C)$$

$$\nabla \times C = \nabla \times (\nabla \phi \times \nabla \chi) = \nabla^2 \phi \nabla \chi - \nabla \phi \nabla^2 \chi$$

$$\nabla \times (\nabla \times C) = (\Delta C) \cdot C = 0 \Rightarrow \Delta C = \vec{F}(\phi, \chi)$$

$$[\vec{F}, \phi, \chi] = F_\phi[\phi, \chi] + \dots + F_\chi[\phi, \chi]$$

$$\nabla \times \dot{\vec{v}} = \nabla \times (\nabla \times \vec{C}) - \nabla(\nabla \cdot \vec{C}) + \nabla(\nabla \times \vec{C})$$

$$= (\nabla \times \vec{C}) \cdot \nabla (\nabla \times (\nabla \times \vec{C}))$$

$$+ (\nabla \times \vec{C} \cdot \nabla) \times (\nabla \times \vec{C})$$

$$\nabla \cdot (\nabla \times \vec{C})$$

$$(\nabla \cdot (\nabla \times \vec{C}) \times \nabla)$$

$$\nabla \cdot \nabla \cdot (\vec{C} \times \nabla) \times (\nabla \times \vec{C})$$

$$\nabla \cdot (\nabla \times \vec{C} \times \nabla)$$

$$\nabla \cdot (\nabla \times \vec{C} \times \nabla) \times \nabla \times \vec{C}$$

$$(\nabla \times \nabla \cdot \vec{C} \cdot \nabla) \times (\nabla \times \vec{C})$$

$$\nabla \times \vec{A} \cdot \nabla = \nabla \cdot (\vec{A} \times \nabla)$$

$$\nabla \cdot \vec{A} \cdot \nabla = \nabla \cdot (\vec{A} \times \nabla)$$

$$0 = \nabla \times \dot{\vec{v}} = \nabla \times (\nabla \times \vec{C}) = -\nabla^2 \vec{C} + \nabla(\nabla \cdot \vec{C}) = \nabla(\nabla \cdot \vec{C})$$

$$\nabla \times \vec{A} \cdot \nabla$$

$$\phi$$

$$\nabla^2 \vec{C} = \phi$$

$$k = \frac{1.38 \times 10^{-23}}{940 \text{ MeV}} \approx 8.62 \times 10^{-5} \text{ eV K}^{-1} \sim 10_{\text{eV}}^{-4} \text{ K}^{-1}$$

$$M_{\text{pc}^3} \quad 940 \text{ MeV} = 9.4 \times 10^8 \text{ eV} \sim 10^9 \text{ eV}$$

$$kT = 8.62 \times 10^{-5} \text{ eV} \sim 10^{-4} \text{ eV}, 100^\circ (\text{K}) = 8.62 \times 10^{-3}$$

$$c = 10^{10} \text{ cm/sec}$$

$$G = 6 \times 10^{-8} \sim 6 \times 10^{-7} \text{ cm}^3/\text{gm} \sim 10^{-30} \text{ cm}^3/\text{eV}$$

$$1 \text{ gm} \sim 10^{24} M_{\text{pc}^2} \sim 10^{23} \text{ eV}$$

$$ds = \sqrt{c^2 dt^2 - dr^2} = c dt \sqrt{1 - \frac{v^2}{c^2}}$$

$$= c dt \left(1 - \frac{1}{2} \frac{v^2}{c^2} + \dots \right)$$

$$\rightarrow -mc \sqrt{\dots} = -mc^2 dt + \frac{mv^2}{2c} dt + \dots$$

$$\rightarrow \sqrt{g_{\mu\nu} dx^\mu dx^\nu} : \rightarrow g_{00} dt^2 + g_{0i} dt dx^i + g_{ik} dx^i dx^k$$

$$\Delta = \nabla \cdot \nabla \rightarrow \text{div. grad} \rightarrow \Delta \frac{1}{r} = -\nabla^2 \frac{1}{r} = -\frac{3}{r^3} + \frac{3}{r^3} = 0$$

$$\int \delta^3(\mathbf{r}) d^3r = \int \delta^3(\mathbf{r}) r^2 dr = 4\pi \int \delta^3(\mathbf{r}) dx dy dz = 1$$

$$\oint \text{div grad} \frac{1}{r} d^3r = -\oint \text{div} \frac{1}{r^2} \hat{\mathbf{r}} = -4\pi$$

Ans Longa, Vita brevis

Ans vitae longae

芸術は永い、人世も永い

百三十億年目にやゝ目覚めたる宇宙

億

$$\Delta kT\rho + 4\pi Gm\rho + \Delta(Gm(x^2+y^2)\rho) = 4\pi GM\delta^3(\vec{r})$$

$$X \equiv kT + Gm \frac{1}{2}(x^2+y^2)$$

$$\Delta(\rho X) + 4\pi Gm\rho = 4\pi GM\delta^3(\vec{r})$$

~~$$4\pi Gm X X^{-1}$$~~

WKB $\psi = \exp(i\phi) \rho$ $F = \rho X =$

~~$$\rho X = \exp(i\phi) \rho$$~~

$$\rho X = \exp(i\phi) \rho$$

$$\nabla\phi \cdot \nabla\phi + \delta\phi = X = kT + \frac{1}{2}(x^2 + \frac{1}{2}y^2)\rho$$

If $\phi = \sqrt{kT}\rho + \alpha(x^2+y^2)\rho$

~~$$\frac{\partial\phi}{\partial x} = \sqrt{kT}\frac{\partial\rho}{\partial x} + 2\alpha x\rho + \alpha x^2\frac{\partial\rho}{\partial x}$$~~
~~$$\frac{\partial\phi}{\partial y} = \sqrt{kT}\frac{\partial\rho}{\partial y} + 2\alpha y\rho + \alpha y^2\frac{\partial\rho}{\partial y}$$~~

~~$$(\nabla\phi)^2 = (kT + \alpha)^2 \rho^2 + kT \nabla^2\rho + \alpha \nabla^2\rho$$~~

~~$$\nabla_x F = (\nabla_x \phi + \frac{1}{2}x) F = \frac{1}{2}x F + (\nabla_x \frac{1}{2}) \rho X$$~~

~~$$\nabla_y F = (\nabla_y \phi + \frac{1}{2}y) F = \frac{1}{2}y F + (\nabla_y \frac{1}{2}) \rho X$$~~

~~$$\nabla^2 F = \nabla^2 \phi F + 2\nabla_x \phi \frac{\partial}{\partial x} \frac{1}{2} F + 2\nabla_y \phi \frac{\partial}{\partial y} \frac{1}{2} F + \nabla^2 \frac{1}{2} F$$~~

~~$$2\nabla^2 \cdot \nabla\phi + 4\pi Gm\rho = 4\pi GM\delta^3(\vec{r})$$~~

$$\phi = 1 + \alpha(x^2+y^2)$$

$$F = \exp(\alpha \frac{r^2}{2}) / r$$

$$\cancel{\nabla_x F = \alpha \nabla_x F + (\exp) (\frac{r^2}{2})}$$

$$\cancel{\nabla_y F = \alpha \nabla_y F + (\exp) (\frac{r^2}{2})}$$

$$\cancel{\nabla^2 F = \alpha \nabla^2 F + \alpha^2 \nabla \cdot \nabla F + \alpha \nabla \cdot \nabla \frac{1}{r} (\exp)}$$

$$\nabla_x F = \alpha \frac{x}{r} F - \exp(\frac{r^2}{2}) \frac{2x}{r^3}$$

$$\nabla_y F = \alpha \frac{y}{r} F - \exp(\frac{r^2}{2}) \frac{2y}{r^3}$$

$$\nabla^2 F = \alpha^2 F + \alpha$$

$$\nabla^2 F = \alpha^2 F - \exp(\frac{r^2}{2}) \frac{2}{r^3}$$

$$\cancel{\nabla^2 F = \alpha^2 \frac{r^2}{r^2} F - \frac{2\alpha^2}{r^3} - \alpha \frac{1}{r} \cdot \frac{2x}{r^3} + 6x^2}$$

$$\nabla^2 F = \left(\frac{\partial^2}{\partial r^2} + \frac{2}{r} \frac{\partial}{\partial r} \right) F \quad F = \exp(\alpha \frac{r^2}{2}) / r$$

$$\frac{\partial}{\partial r} F = \alpha \cdot \exp(\alpha r^2 / 2) / r - \exp(\alpha r^2 / 2) / r^2$$

$$\cancel{\frac{\partial}{\partial r} \left(\frac{\partial}{\partial r} \right)^2 F = \alpha^2 \exp(\alpha r^2 / 2)}$$

$$\frac{2}{r} \frac{\partial}{\partial r} F = 2\alpha \exp(\alpha r^2 / 2) / r^2 - 2\exp(\alpha r^2 / 2) / r^3$$

$$\frac{\partial^2}{\partial r^2} F = \alpha^2 \exp(\alpha r^2 / 2) / r - 2\alpha \exp(\alpha r^2 / 2) / r^2 + 2\exp(\alpha r^2 / 2) / r^3$$

$$\nabla^2 F = \alpha^2 F$$

$$\text{Let } F = \exp(f) / r$$

$$\nabla F = f' F - \exp(f) / r^2$$

$$\nabla^2 F = f'' F + f'^2 F + 2 \exp(f) / r^3 - f' \exp(f) / r^2$$

$$\frac{2}{r} \nabla F = 2(f' / r) F - 2 \exp(f) / r^3 - \frac{f'}{r^2} \exp(f)$$

$$\left(\nabla^2 + \frac{2}{r} \nabla \right) F = f'' F + f'^2 F + \frac{2 \exp(f)}{r^3} - \frac{f' \exp(f)}{r^2} + \frac{2 f'}{r} \exp(f) / r^2$$

$$\Sigma = (f'' + f'^2) F$$

$$f'' + f'^2 = X^{-1} = \frac{1}{\sqrt{kT + \frac{1}{2}(x^2 + y^2) - \Omega}}$$

2D case $\Delta f = \partial_z^2 F + \frac{1}{r} \partial_r F$

$$\partial_r f = F = \exp(f) \ln r$$

This is not what we want

$$\partial_r f =$$

$$F = \exp(f) \ln r$$

$$r^2 = x^2 + y^2$$

$$\partial_x F = f_x F - \frac{x}{r^3}$$

$$\partial_y F = f_y F - \frac{y}{r^3}$$

$$F = \exp(f)$$

$$\partial_z F = f_z F$$

$$\Delta F = f_r^2 + \frac{1}{r} f_r$$

$$\partial_r F = f' F - \exp(f) / r$$

$$\partial_r^2 F = (f'' + f'^2) F + f' \exp(f) / r^2 - f' \exp(f) / r$$

$$\frac{1}{r} \partial_r F = \frac{1}{2} f' F - \exp(f) / r^2$$

$$(\partial_r^2 + \frac{1}{r} \partial_r) F = (f'' + f'^2 + \frac{f'}{r}) F - f' \exp(f) / r$$

$$f'' + f'^2 + \frac{f'}{r} = X^{-1} = \frac{1}{\sqrt{kT + \frac{1}{2} r^2 - \Omega}}$$

If $X^{-1} \approx \frac{1}{\sqrt{kT - \frac{1}{2} r^2 - \Omega}} (kT)^{-1/2}$

Let $f = \frac{1}{\sqrt{kT - \frac{1}{2} r^2 - \Omega}} - \alpha \frac{1}{2} \frac{r^2 - \Omega}{(kT)^{3/2}}$

$$f' = -\frac{1}{\sqrt{kT - \frac{1}{2} r^2 - \Omega}} - \frac{\alpha r}{(kT)^{3/2}}$$

$$f'' = \frac{r}{(kT - \frac{1}{2} r^2 - \Omega)^{3/2}} - \frac{\alpha}{(kT)^{3/2}}$$

$$\frac{1}{r} f' = -\frac{1}{r \sqrt{kT - \frac{1}{2} r^2 - \Omega}} - \frac{\alpha}{2} \frac{r}{(kT)^{3/2}}$$

$$f'^2 = \left(\frac{1}{\sqrt{kT - \frac{1}{2} r^2 - \Omega}} \right)^2 - 2\alpha \frac{r}{(kT)^{3/2}} + \alpha^2$$

$$f'' + f'^2 + \frac{f'}{r}$$

$$3D = \frac{1}{r^3}$$

$$F = \exp(f)/r^2$$

$$\begin{aligned} \partial_x F &= f_x F - \exp(f) \frac{2x}{r^3} \\ \partial_y F &= f_y F - \exp(f) \frac{2y}{r^3} \\ \partial_z F &= f_z F - \exp(f) \frac{2z}{r^3} \end{aligned}$$

$$\frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2} + \frac{\partial^2}{\partial z^2} = \nabla \cdot \nabla F = (2r \cdot \nabla f) \frac{\exp(f)}{r^3} + \exp(f) \frac{2}{r^4}$$

$$\frac{\partial^2}{\partial r^2} F = f_{xx} F + f_x^2 F - \frac{2x^2 \exp(f)}{r^3} - 2x \exp(f) \left(\frac{1}{r^3} - \frac{3x^2}{r^5} \right)$$

$$\Delta F = (\Delta f) F + (\nabla f) \cdot (\nabla F) - \frac{2(\nabla f) \cdot \nabla f}{r^3} + 2 \exp(f) / r^3$$

$$\text{If } f = \alpha r \quad \Delta f = \frac{2\alpha}{r} \quad \nabla f \cdot \nabla f = \frac{2\alpha^2}{r^2} \quad \frac{2r \cdot \nabla f}{r^3} = \frac{2f}{r^3} = \frac{2\alpha}{r^2}$$

$$\Delta F = \frac{2\alpha}{r^2} \exp(f) - \frac{2\alpha \cdot \nabla f}{r^3} \exp(f) = \frac{2\alpha}{r^2} \exp(f)$$

$$\textcircled{2} \quad \Delta F = \Delta f F + \nabla f \cdot \nabla F - \frac{2(\nabla f) \cdot \nabla f}{r^3} + \frac{2 \exp(f)}{r^3}$$

$$\text{If } f = \alpha r \rightarrow \Delta f = \frac{2\alpha}{r} \quad (\nabla f)^2 = \alpha^2 \quad \frac{2r \cdot \nabla f}{r^3} = \frac{2\alpha r}{r^3}$$

$$\rightarrow \Delta F = \alpha^2 F \quad \text{OK}$$

~~$$\text{If } \Delta F = [\alpha + \beta(x^2 + y^2)] F$$~~

~~Let $f = a(x) + b(y)$~~

~~$$\nabla f \cdot \nabla f = a'^2 + b'^2$$~~

~~$$\Delta f = a'' + b''$$~~

~~Let $a'' + a'^2 = \frac{c + dx^2}{\beta x^2 + \gamma}$~~

~~$$b'' + b'^2 = \frac{e + dy^2}{\beta y^2 + \gamma}$$~~

~~Let $a' = \beta x^n \quad a'' = \beta \quad a''' = \frac{1}{2} \beta x^2 - 2x \cdot \beta x = -2\beta x^2$~~

~~Sum $f = \frac{1}{2} \beta (x^2 + y^2) + \beta$~~

Solve

$$f'' + (f')^2 - 2xf'/x^2 = \alpha + \beta x^2$$

$$f' = g \quad g' + g^2 - 2xg/x^2 = \alpha + \beta x^2$$

$$(g-x)^2 - x^2 + g' = \alpha + \beta x^2$$

$$g-x = h, \quad h^2 + h' + 1 - x^2 = \alpha + \beta x^2$$

~~$$1 + h'/h^2 + (1-x^2)/h^2 = \alpha + \beta x^2 \quad \frac{1}{h} = x$$~~

~~$$1 + x' + x^2(1-x^2) = \alpha + \beta x^2$$~~

If $\beta = -1$, $h^2 + h' = \alpha$, $\rightarrow h = \pm\sqrt{\alpha} \rightarrow g = \pm\sqrt{\alpha} + x$

$$\rightarrow f = \pm\sqrt{\alpha}x + \frac{1}{2}x^2$$

But this is unphysical

Perturbation.

$$h_0^2 + 1 - x^2 = \alpha + \beta x^2$$

$$h_0^2 = \alpha + (\beta+1)x^2$$

$$h_0 = \pm\sqrt{\alpha + (\beta+1)x^2}$$

$$h_0' = \pm(\beta+1)x / \sqrt{\alpha + (\beta+1)x^2}$$

small x : $h_0 \approx (\beta+1)x/\sqrt{\alpha} - (\beta+1)x^3/\alpha^{3/2} + \dots$

Directly with g : $g_0^2 = 0$? else $g_0' = 2x$, $g_0 = x^2$

$$g_0' = 2x$$

$$h_0 \approx \pm\sqrt{\alpha} \pm \frac{\beta+1}{\sqrt{\alpha}}x^2 + \frac{(\beta+1)x}{\alpha^{3/2}} + \frac{(\beta+1)^2}{\alpha^3}x^2$$

$$g \approx \pm\sqrt{\alpha} + \left[\frac{(\beta+1)}{\alpha^{3/2}} + 1\right]x + \left[\frac{(\beta+1)^2}{\alpha^2} \pm \frac{(\beta+1)}{\sqrt{\alpha}}\right]x^2$$

Reconsider 3D we must

$$\Delta F = X^{-1} F, \quad X^{-1} = 1/(a + b(x^2 + y^2))$$

$$\rightarrow \sim \frac{1}{a} + \frac{b}{a^2}(x^2 + y^2)$$

Put $F = \exp(f)/r$ to produce the central sun contribution

$$\Delta F = (\Delta f + \nabla f \cdot \nabla f - 2 \nabla f \cdot \vec{r}/r^2) F$$

But if $r = \sqrt{x^2 + y^2}$ $\Delta 1/r = \frac{2}{r^3} \frac{1}{r} = \frac{1}{r^3}$ } extra term on r.h.s.

term in $f \sim \ln r$, $\nabla f \cdot \nabla f = c^2/r^2$

$$-\nabla f = c \vec{r}/r^2, \quad \nabla f \cdot \nabla f = c^2/r^2, \quad \Delta f \approx 0$$

$$-2 \nabla f \cdot \vec{r}/r^2 = -2c/r^2$$

Let $c^2 - 2c = 1$ to match r.h.s.

term in $f \sim b r^2$ $\nabla f = 2b \vec{r}$ $\nabla f \cdot \nabla f = 4b^2 r^2$

$$\Delta f = 2b$$

cross term $\nabla f \cdot \nabla f \rightarrow 2b \vec{r} \cdot c \vec{r}/r^2 = 2bc$

Problem: Applying thermodynamic formula to 2D in a 3D space is problematic.

Possible answer: If the system is rotating with as a whole, the velocity $v = \Omega r$

If it is in a thermal state, probability is $e^{-\frac{1}{2} m v^2 / kT}$

$$= \exp(-\frac{1}{2} m \Omega^2 r^2 / kT) \rightarrow \exp(-\frac{1}{2} m \Omega^2 r^2 / kT)$$

How big is $\Omega = 2\pi / 365 \times 10^5 \text{ sec} \sim 2 \times 10^{-7} \text{ sec}$

$m \sim 10^{12} \text{ gr}$? but it varies